Exam 2012 Ans wers

Mathematics for Multimedia Applications
AAU-Cph, Medialogy

4. June 2012

Formalities

This exam set consists of 5 pages, in which there are 9 problems in total. You are
allowed to use books, notes etc. You are not allowed to use electronic devices such
as calculators, computers or cell phones.

A number of points is indicated for every sub-problem. The sum of these points
equals 100.

Date and time for the exam: 4. June, 9:00 - 13:00

You must indicate the following on each page:
e Full name
e Study number
e Page number

On the first page, you must indicate

e The total number of pages.

Good luck!



Problems

Problem 1.
-2x 3x
! -
l.a. (3 points) Differentiate the function f(z) = e™* + 5e37. fli=-2¢e + /5
X
1.b. (3 points) Differentiate the function g(z) = In(z? + 1). f)' (x) = —
X +1

1.c. (3 points) Differentiate the function

h(z) = o z #0.
cos ) X2 = scw(x): 2x _ XCosX — 2 sinX

h'(x) =

Problem 2. (5 points)
Prove that the following trigonometric identity holds:

cos(a) cos(f) = —;—(cos(a — B) + cos(a + B)).

Hint: Start with the right hand side of the equation. Use the trigonometric addition
formulas. -'i(ws(« -/A\+Cos(°¢+/5))z

. N ! -
"z (cosEIcos (B + sin (=) sn(BY + cos() cos(B)— Stn(e)s¢ w(ﬁ)) = 7 'L cosE)cos(p) =

cos (=) cog()
Problem 3.

3.a. (3 points) Calculate the sum

3 @i-52 = (2:1-5V+ (2 2-5F + (23- (2.4~

. = (.3)1+(-()1+ 12 +3%= 20

3.b. (4 points) Calculate the sum
100

> (@i+1).
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Z (ZL\-(-I) ZZ (.— 4 ‘iol 2{ oo
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L=

+ loo = [oloo+loo=10200
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Problem 4. In this problem, the following values of the sine and cosine functions
may be useful:

z|-—w/2| —m/4 |0
sm(z) |1 |-0.71 |0
cos(z) | 0 071 |1
= L sm(2
Let f(x) = cos(2z) and g(z) = z° + 1. F(x) = 3 stn(2x)
4.a. (4 points) Find antiderivatives F' and G for f and g. Glx) = -‘l; x*+ x
4.b. (3 points) Evaluate the integrals ffﬂ /4 f(z)dz and f02 g(r)dz. |2' (
Let ’
h(z) = f(z) ]'.f$<0
g(z) ifz>0
where f and g are given as above.
4.c. (3 points) Sketch the graph of h(z) on the interval from —7/4 to 2.
4.d. (3 points) What is [°, , h(z)dz? What is [, , 4h(z)da? B 2

The following values of a function v(t) are observed:

t]-2]0[2][4]6
v@) |3 |1|3]|9][19

4.e. (3 points) Sketch the graph of v(t).

4.f. (5 points) Compute an approximate value of ff2 v(t)dt using the trapezoidal bR
approximation. v/
\

% be, i {
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Problem 5. Let P, Q and R be three points in 3D-space. P has coordinates
(—1,2,5), Q has coordinates (0,2,7) and R has coordinates (2,1, 10).

5.a. (2 points) Find Fé and PR. EE)_, =(1,02) , PR=(3,-1,5)
5.b. (3 points) Compute the cross product @ x PR. EEL x PR = (2,1,-0)
5.c. (3 points) Find the area of the triangle with vertices P, ) and R. %——-
5.d. (2 points) Find a unit vector which is perpendicular to both I@ and PR. + L (2] _‘)
5.e. (3 points) Find an equation for the plane through P, @ and R. Ve
Lo (x==+ |- (y=2) +0(2- 5)=0 &
Ix 4y - = =5
Problem 6. A parametric curve is given by the following vector function:
7(t) = (cos(t), sin(t), sin(8t)).

Here is a plot of the curve when ¢ runs from 0 to 2m:

z
6.a. (3 points) Compute the velocity vector #(t). = ( —schlt), cos(t), & cos (8£))
6.b. (3 points) Compute the acceleration vector @(t). = (-cos(t],-stn(t), - 4 scn(gd)

6.c. (2 points) Find 7(0) and ¥(0). (10,0 and (6,1,8)

6.d. (3 points) Find parametric equations for the tangent line to the curve at the
point with position vector 7(0).

(x,9,2V= (0,01 +s(2)(,8) seR
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Problem 7. Consider the following system of linear equations: See next

I +2I2+3$q =2 Pﬁjé
35132—.’.173:0
21171 +£B2+71‘3:4

7.a. (2 points) Is z; = —9, 2 = 1, 3 = 3 a solution to the system? Why/why not?
7.b. (2 points) Find the augmented matrix of the system.

7.c. (3 points) Find a row echelon form of the augmented matrix.

7.d. (3 points) Find the reduced row echelon form of the augmented matrix.

7.e. (4 points) Write down the general solution to the system.

7.f. (3 points) Find a solution to the system which has z3 = 6.

Problem 8. Define three matrices as follows:

27 -1 5 2
A_[32 1]’ B=11 01, C=[2 1]
1 -1
8 5]
8.a. (3 points) Compute the matrix product AB. AB = 6 5§
. g
8.b. (2 points) Compute AT + B. ATH+R = { E;f ) ]
8.c. (3 points) Find BTAT. o°
T T & ¢
8.d. (3 points) Compute C~!. BA = [6’ 5]
-1 4
¢ = [—z 5

Problem 9. Consider the unit square with vertices (0,0), (1,0), (0,1), (1,1) in
an (z,y)-coordinate system. Sketch the image of this square under the following
matrix transformations:

9.a. (2 points) T'( a: )= g g T See next
om e page
. z 3 1| |z
9.b. (2 points) T'( | )= 0 2 |y]
. E 2 4] [z
9.c. (2 points) T'( y )= 1 o) |y
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